AHEDS

Notice de montage / Assembly instructions

STILIX simple écran / STILIX single screen

www.axeos.net

/p(EDS corporate@axeos.net | Tel : +33 (0)2 31 28 59 37



http://www.axeos.net/
mailto:corporate@axeos.net

AHEDS

Composition / Packing list :
e Colis N°1 : socle + accessoires

Package N°1 : base + accessories

Socle
Base

1 barre VESA
1 VESA bar

Paire de fixations fixes
Mounting brackets

Une multiprise
(unavailable for UK/DE)

8 Colliers de serrage
8 plastic clamps

Un jeu de clés
Allen key set

‘1\ (3 Rep | Qté | Désignation

16 |Bouchon M35

4 |Visiapy M3x15

2 |Vis CHC Mdx2s
2 |Vis CHC MSx23

Un kit visserie meuble
Bolting kit (furniture)

2| Vis CIIC Max20
5 |VisCHC M8xls
2 |Rondelle plarz Mt

EREIE N R PN

2 |Rendelle plate M5
2 [Rondells plae Mé

= e

-
=

-
w

Kit visserie écran
Bolting kit (screens)

Notice de montage
Assembly instruction

( www.axeos.net
ALEDOS corporate@axeos.net | Tel: +33 (0)2 31 28 59 37



http://www.axeos.net/
mailto:corporate@axeos.net

AHEDS

e Colis N°2 : colonne

Package N°2 : column

Colonne Affichage Colonne Visio
Display column Videoconferencing column
!
B ﬂ
ou
or 'S
Y N
OPTIONS
Un support codec
Codec holder SCuvi2_1u
Une tablette petit format SMCP CPS

Small shelf

Fixation forte charge

Heavy load screen fixing KIT ADT 75 100

www.axeos.net

/P(EDS corporate@axeos.net | Tel : +33 (0)2 31 28 59 37



http://www.axeos.net/
mailto:corporate@axeos.net

AEOQS

Etape 1 : [
» Retirer |la face avant en la montant et tirant vers vous g i
Step 1 : 1IN
e Remove the front panel by raising it and pulling towards you ~

]

AN

\

Ny

Etape 2 :
e Assembler le socle sur la partie arriere
(2 vis CHC M6 + 2 rondelles)

Step 2 :
e Assemble the base on the rear part
(2 CHC M6 screws + 2 washers)

246

Etape 3 :
e Poser 'ensemble contre le mur puis fixer le —

Step 3 :
e Place the stand against the wall and then fix it I

451

451

451

252

AEDS | Tel: +33 (0)2 31 28 59 37


http://www.axeos.net/
mailto:corporate@axeos.net

g

/,
- A

h \ 4 //

> ¢

A $ N

y W

/ 4 __\

&

Etape 4 : (option fixation forte charge)
¢ Fixer le forte charge sur la partie avant
et serrer-le par l'intérieur

Step 4 : (heavy load screen fixing option)
e Fix the heavy load mount to the front part
and tighten it from the inside

Etape 5:

e Replacer la partie avant et sécuriser 'ensemble
(2 vis CBHC M6x16)

2

Step 5 :
e Fix the front part and secure the stand
(2 CBHC M6x16 screws)

o
DA AT AT P P T P A
[ ——

&\)

J

Etape 6 :
e Fixer la barre VESA sur la colonne (4 vis CBHC M6)

Step 6 R N
e Fix the VESA bar to the column (4 x CBHC M6x16 screws) o \Q

o iam oot

AEDS | Tel: +33 (0)2 31 28 59 37


http://www.axeos.net/
mailto:corporate@axeos.net

<
AHE0s
/”/ // ((\\A

y 4

Etape 7 : (option support codec)

e Monter le support codec derriére la barre VESA
% (4 vis moletée M5 + 4 écrous moleté M5)

Step 7 : (codec holder option)
e Fix the codec holder behind the VESA bar
(4 Knurled screws M5+ 4 Knurled washers M5)

Etape 8 : (option tablette petit format)
e Monter la tablette petit format (4 vis M4x10)

Step 8 : (small shelf option)
o Fix the small shelf (4 M4x10 screws)

Etape 9 :

e Monter la paire de fixations fixes sur
I'écran (vis fournies dans le kit visserie écran)

Step 9 :

e Fit the mounting brackets on the screen
(screws provided in the bolting kit)

| Tel: +33 (0)2 31 28 59 37


http://www.axeos.net/
mailto:corporate@axeos.net

AHEDS

Etape 10 :
e Monter I'écran sur la barre VESA

e Sécuriser I'écran (vis M5 fournies dans le kit visserie écran)

Step 10 :
e Fix the screen on the VESA bar

e Secure the screen (M5 screws provided in the o
bolting kit) Warning:
Tightening just in contact.

Do not tighten too hard

Attention :
Serrage juste en contact.
Ne pas serrer trop fort

Etape 11 :
e Procéder au cablage

Step 11 :
e Proceed with cabling

www.axeos.net

/P(EDS corporate@axeos.net | Tel : +33 (0)2 31 28 59 37



http://www.axeos.net/
mailto:corporate@axeos.net

AHEDS

Le montage de votre STILIX est terminé !

Your STILIX is ready !

www.axeos.net

/P{EDS corporate@axeos.net | Tel : +33 (0)2 31 28 59 37



http://www.axeos.net/
mailto:corporate@axeos.net

